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2019

1-9 HW Answer Key
2. (2x+3)(x-2)(x+2)
3. x?(3x-2)(3x-2)
4.{1/2}

5.{3/2,-4}
6.{-2,+1}

7.{0,5, 2}

8.0, +3, +/5)
9.{+3}

10.{#2, +5}
@(2x-5)(4x2+10x+25)

1. Roots and zeros are similarin that they both refer to

the same point graphically where the functionor related
function crosses the x-axis. They are different in that
roots are algebraic solutions to a given equation or an
equation formed by setting the function equal to zero.
Zeros are where the function crosses the x-axis (x-
intercepts) or where the y value is zero.
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a) Algebraically find the zeros of the function,

b) Check graphically on your calculator by sketching the function and labeling the
x-infercepts/zeros.

¢) Check algebraically by substituting your selutions into the equation.

,J-,al iyt =0 f_,f

2y (L =) =12 Yy=0
(=t 1)=0
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b. &raphic check ¢. Algebraic che -
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| = %N =0
H=20 v
b. Graphic check c. Algebr'mc check

Sa. f(x) = 2x° + 5x - 12
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w(xm}ux 3)=0

e = ‘sm
Xﬁqﬂ]‘%_ﬁ =5
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3. 9xf - 127 —4! p=36
= XHAR- X H) 5=-13
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raic check

. =xle 2w -x-2
Ba. fi(x) = x* + 2 - x roic check

K2t ANt—x=h =0
K 2K E )= r2)=0

b. Graphic check

8
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NEAR R,

Find the zeros of the following functions by factoring. Mo checks.
7. f(x) = 3x* - 21x° + 30x° 8. f(m)= m® - Bm® + 15m

2y - = ¥l
Hraniteg-o 2 (= =0) 2 =0
J= A% =] /< 13- "o
7-2,L13 (TR () -0
y - =1+t -T=0
n=> /

2xb-2Ax* 304 =0 5T M Saa=0 =5
3;:‘(){1-'.' x +10) =0 (;'_:,'0_12_ :: {m%u._?,.:‘- 1—:3%:0 5:'—:"5_3’5
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Find the roots of the followina eauations by factoring. Mo checks,
93t =27 10. x4 00 = P9 x> 7= | (00
3¢k ~27=0 xleadp-reo=o (710 5 50
3(x*+-4)=0 (=es)(=4)=0 7 Z_y
53 (x-3)=0 (545 Xk Yx2)=0 "7
Na-b] k=3 X =75 Ja=5 [x=P] K=2,
2r3 + *
5 PEINCIRES AR
11.Factor and check: 8x” - 125. check /2%~ YxF+HOX+25)
o Llfx:( SR < é,(s i%‘*f‘_%:zy‘-_s_w—'v
. a-b)d b= TP-125
S ) )
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1-10: Simplify Square Roots And Find The Discriminant

No calculatoruse. Complete and get familiar with this table.

X x> X X
Integer | Square | Integer | Square

1 | 11 (2|

2 <-/ 12 /c/(/

3 9 13 /

4 [ b 14 (i 9 Z 7

5 2s 5 [ 225

6 26 16 @ G

7 19 7 Q3T

8 bY 20 | gpo

9 g/ 25 625D

0 | /pd | 30 | 20
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X x> (\GL(JAC#”\J,
Properties (true forall indices)
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SIMPLIFY SQUARE ROOTS

Write each of the followmg numbers in simplest radical form

4— 2.\/173@

September 18, 2019

N7 S‘{ _ T N S
3, Mol =22 = 27 4, = -
N7 D\ 225 (s~ IS
:PTG
53
72 2 = _ 2
5. \/; -~ (= 6. 5\/z_~§.l’~’*f/’3m
~ > X3
—{3 V.4 z /
= 203
Aug 27-2:03 PM
7.421 QN | 8. -248 =2
_Stv'\(‘ﬂ"é (‘I("“fi =2 (D=
aﬁ;fi =-3G
22
0. 5\/176 =S 4{=20 U 10 81 -—‘-@ :i'
- 16 (/Z 9
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FIND THE DISCRIMINANT
We know that standard form of a quadratic equationis OKXL“’bX +¢ =0

The discriminant is a number formed from standard form of a quadratic

equation and equal to b—L“ Hac.
Find the discriminant.
o b C o b C
11, x*-3x+2=0 12. 3x*-5x+1=0
T T
b{ac = 3)<¢( \11) b e = (=S) 3 X1)

=S - 1

=~ 9 -¥
2l =3

Aug 27-1:51 PM
13. 4Ax¢-4x=-1 14. x¢2=7
Tt=x +1=0 Xt =0
“dae = ({)YEN) S lae = O ()(-1)
= /- -
15. x2-6x+9=0 16. 2x% +4x =1
b Yae=(~6\E (D) 2x#4x- =0
= b - 46 +*
> bR ek y)
=148
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Simplify the square root of each discriminant in the previous section.

T e 2. {12

13, (2 =0 14, (¥ 247= a7

G 6. [Fd4= (/5 =2l
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